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8) Momen*'o r\r\oV\O‘DOIar ~ Qrera

-9’ = Qrom, =% -3 50
Nb \nay MOmen‘l'o monopoiar
Momenf'o J:po/ar => VV€amos -F-D-

(No cj,epe,rﬂe porque Qrora. = 0)
f)\(KcOse RSene,0 ).Rde + ‘Eﬂ [

éohcle >\“ I 'E[_
=> Jcosede =0 //jsene de = O
=) P -0

\3) Calwlo el po~\'ena39.

car%a 9 en eQ Cen{'ro

V(oo2) = _____9_ + K>\j 36
12| (g*+ 2%\

i

Anillo 2y



Viooz)= K& _ _ K%
12| (R + 2*)">

iy hafo expansfo’n mu/ﬁ’po/ar..-

Vio,o2)= K& _ K&, 1T
|

12 2] (L+ Rp)'2

~ Exp. de Taylor . (4 + Qz/z?.)ﬂ/zf\/ {-®”

Voo, ) = K _ K% | K3 8 <
2] 2 12 2°

= :\((o,o,}) = _\S&_’i —» No es dipolar  n
| 21 2l1° e esCribe
Como
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